LOS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL			
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number : LA-COO-51761-66e32fca174a5 VERIFY.FTGS.US Date : September 12, 2024			
Seller (Exporter) Global Craft Trading, Inc. 901 East E Street Los Angeles California 90744 United States	Transport Type Vessel	Port of Loading Los Angeles	Port of Loading Los Angeles	
	Destination Country Taiwan	Destination Po Taipe	Destination Port Taipe	
Consignee	Export Date	Exporting Carri	er	
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242 Taiwan	Import Permit Number	Bill of Lading /	AWB	
	Owner or Agent	Forwarding Age	ent	
Buyer (Importer)	Remarks		CT 42 279 CT	
	Consignor reference: ACE1035.WF			
Description (May include notes on Quantity, Item Number, Marks and Numbers, K	(ind of Packages.)	Weight	Country of Origin	
Vegas As Fuck (6.5%) - 473ml 6x4pk case of aluminum cans		120.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 cases				
Distance Haze NE DIPA (8.0%) - 473ml 6x4pk case of aluminum c	ans	120.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 cases	O1.			
Planet Lovetron NE IPA (6.5%)- 473ml 6x4pk case of aluminum ca H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 cases	ins	120.00 kg	United States	
Heat Sync Hoptorium (6.7%) - 473ml 6x4pk case of aluminum can H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 cases	s	120.00 kg	United States	
Dr. Lupulin 3x IPA (11.3%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 cases	52100201	120.00 kg	United States	
Revision IPA (6.5%) - 568ml 24pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 cases		150.00 kg	United States	
Revision IPA (6.5%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 kegs	TIOT	220.00 kg	United States	
REA CHAMBED	origin applicable in the country(ies) -The information in this certificate a Commerce ("LAACC") is accurate, ti -The Applicant undertakes to advis Certificate (or to whom the Certifica of any inaccuracy, omission or chai	nate in the country(ies) specifie to those goods. and in any documents provided rue and complete. E LAACC and any other person(; ate is provided to with the know roge in such information, or in th	d above and comply with the rules of to the Los Angeles Area Chamber of s) to whom the applicant provides this ledge of the Applicant) promptly in writing	

truth, accuracy and completeness of this certificate and accompanying documents. -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

AMBERS FEL

USA

Authorized Signature Farhad Ghorbani Fard

-

LOS ANGELES AREA	CERI	FIFICATE	OF ORI	GIN ORIGINAL	
CHAMBER OF COMMERCE	TO VALIDATE		LA-COO-51 September 12, 202	761-66e32fca174a5 24	
Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Typ Vessel	pe		Port of Loading Los Angeles	
Los Angeles California 90744 United States Consignee			Destination P Taipe	Destination Port Taipe	
	Export Date	*	Exporting Car	Exporting Carrier **********	
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242	Import Permi		Bill of Lading	Bill of Lading / AWB *************	
Taiwan	Owner or Age		Forwarding A		
Buyer (Importer)	Remarks			निक्र अप्रति	
	Consignor re	eference: ACE1035.WF			
Description (May include notes on Quantity, Item Number, Marks and Numbers, H	Kind of Package	·s.)	Weight	Country of Origin	
Devicies DIDA (0.00() - 001 Disatis Kar		<u>+ </u>	154.00 kg	United States	
Revision DIPA (8.0%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Revision Brewing, 7 kegs Dr. Lupulin 3x IPA (11.3%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Revision Brewing, 6 kegs Vegas AF (6.5%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Revision Brewing, 7 kegs					
Dr. Lupulin 3x IPA (11.3%) - 20L Plastic Keg			132.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Revision Brewing, 6 kegs	04				
Vegas AF (6.5%) - 20L Plastic Keg			154.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Revision Brewing, 7 kegs	â				
Heat Sync Hoptorium (6.7%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Revision Brewing, 10 kegs	RIGIN		220.00 kg	United States	
Planet Lovetron NE IPA (6.5%) - 20L Plastic Keg amber U H.S.Code: 2203.00.0000 Marks: Revision Brewing, 8 kegs			176.00 kg	United States	
Distance Haze NE DIPA (8.0%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Revision Brewing, 8 kegs			176.00 kg	United States	
Emerald Bay (6.4%) - 20L Plastic Keg 88. H.S.Code: 2203.00.0000 Marks: Revision Brewing, 4 kegs			88.00 kg	United States	
	mber US2100201	 The above-mentioned goods origin origin applicable in the country(ies) The information in this certificate a Commerce ("LAACC") is accurate, tri The Applicant undertakes to advisis Certificate (or to whom the Certificate of any inaccuracy, omission or char The Applicant will maintain, and pr truth, accuracy and completeness of -In consideration for the LAACC" is 	ate in the country(ies) specif to those goods. and in any documents provide ue and complete. a LAACC and any other perso ate is provided to with the knr age in such information, or in esent upon request, such doc of this certificate and accomp suance of this Certificate, the ility in connection with the is or claims made against LAA	cumentation as is necessary to verify the panying documents. e Applicant agrees to release, discharge and suance of this certificate and to indemnify CC in connection herewith.	
Authorized Signature Farhad Ghorbani Fard					

LA-COO-51761-66e32fca174a5 / September 12, 2024

LOS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL			
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Num VERIFY.FTGS.US	ber : LA-COO-5 ate : September 12, 2		
Seller (Exporter) Global Craft Trading, Inc. 901 East E Street Los Angeles California 90744 United States Consignee White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242 Taiwan			Port of Loading Los Angeles	
	Destination Country Taiwan	Destinatio Taipe	Destination Port Taipe	
	Export Date	Exporting ********		
	Import Permit Number	Bill of Lad	ing / AWB ***	
	Owner or Agent	Forwardin ********		
Buyer (Importer) Remarks Consignor reference: ACE1035.WF				
Description (May include notes on Quantity, Item Number, Marks and Numbers, K	ind of Packages.)	Weight	Country of Origin	
Mayberry IPA (7.2%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: El Segundo, 10 cases		120.00 kg	United States	
Broken Skull IPA (6.7%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: El Segundo, 19 cases	Sol	228.00 kg	United States	
White Dog IPA (6.7%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: El Segundo, 20 cases	Commence	240.00 kg	United States	
Peculiar Habits IPA (6.2%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: El Segundo, 19 cases	RIGIN	228.00 kg	United States	
Huftgold Festbier (5.8%) - 473ml 6x4pk case of aluminum cans US H.S.Code: 2203.00.0000 Marks: El Segundo, 10 cases		120.00 kg	United States	
Smog City Blonde Ale w/Citrus (5.0%) - 473ml 6x4pk case of alumi H.S.Code: 2203.00.0000 Marks: Smog City, 10 cases	inum cans	120.00 kg	United States	
Coffee Porter (6.0%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Smog City, 10 cases		120.00 kg	United States	
Name of Authorized Trade Association	- The above-mentioned goods origin applicable in the countr - The information in this certific Commerce ("LAACC") is accur:	originate in the country(ies) s y(ies) to those goods. cate and in any documents pro ate, true and complete.	by utilizing this document, certifies that: becified above and comply with the rules of wided to the Los Angeles Area Chamber of erson(s) to whom the applicant provides this	

commerce (LAACC) is accurate, true and complete.	
-The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this	3
Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in wr	itin
of any inaccuracy, omission or change in such information, or in the origin of goods.	

of any inaccuracy, omission or change in such information, or in the origin of goods. -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents. -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

CERTIFICATE OF ORIGIN

AMBERS FE

dited Chamber US210020

CHAM

USA

Authorized Signature Farhad Ghorbani Fard

LOS ANGELES AREA	CERT	IFICATE	OF	ORIC	GIN ORIGINAL
CHAMBER OF COMMERCE	TO VALIDATE, VERIFY.FTG			COO-517(ember 12, 2024	61-66e32fca174a5
Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Type Vessel			Port of Loading Los Angeles	
Los Angeles California 90744 United States	Destination Country Taiwan			Destination Port Taipe	
Consignee	Export Date			Exporting Carrie	er
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242	Import Permit	Number		Bill of Lading /	AWB
Taiwan	Owner or Agen			Forwarding Age	int
Buyer (Importer)	Remarks				(a) 4: 279 (a)
Consignor reference: ACE1035.WF					
Description	(ind of Doolsogo			Weight	Country of Origin
(May include notes on Quantity, Item Number, Marks and Numbers, H Little Bo Pils (4.4%) - 473ml 6x4pk case of aluminum cans		5.)	120.00 kg		United States
H.S.Code: 2203.00.0000 Marks: Smog City, 10 cases					
Smog City IPA (7.2%) - 473ml 6x4pk case of aluminum cans OK H.S.Code: 2203.00.0000 Marks: Smog City, 20 cases	Comme		240.00 kg		United States
Lightning Sprites (6.3%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Smog City, 9 cases	MERCE		108.00 kg		United States
Amarilla Gorilla IPA (7.4%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Smog City, 10 cases	RIGIN		120.00 kg		United States
Sabre-Toothed Squirrel (7.0%) - 473ml 6x4pk case of aluminum ca H.S.Code: 2203.00.0000 Marks: Smog City, 10 cases	ans ₁₀₀₂₀₁		120.00 kg		United States
Amarilla Gorilla IPA (7.4%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Smog City, 8 kegs			176.00 kg		United States
Smog City IPA (7.2%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: Smog City, 8 kegs	ATIO		176.00	0 kg	United States
Name of Authorized Trade Association	MBER OF COLUMN R	origin applicable in the country(ies) -The information in this certificate a Commerce ("LAACC") is accurate, t -The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or chau -The Applicant will maintain, and pr truth, accuracy and completeness -In consideration for the LAACC's is	nate in the) to those of and in any rue and co ie LAACC a ate is provin de in such resent upor of this cert ssuance of polity in com /or claims	country(ies) specified goods. documents provided t mplete. nd any other person(s ided to with the knowl h information, or in the n request, such docum ificate and accompan this Certificate, the Ap unection with the issue made against LAACC	above and comply with the rules of o the Los Angeles Area Chamber of) to whom the applicant provides this edge of the Applicant) promptly in writing origin of goods. tentation as is necessary to verify the ying documents. oplicant agrees to release, discharge and noce of this certificate and to indemnify in connection herewith.

LA-COO-51761-66e32fca174a5 / September 12, 2024

USA

- -

HANA.

Authorized Signature Farhad Ghorbani Fard

LOS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL			
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number VERIFY.FTGS.US Date	LA-COO-517(September 12, 2024		
Seller (Exporter) Global Craft Trading, Inc. 901 East E Street Los Angeles California 90744 United States Consignee White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242 Taiwan	Transport Type Vessel	Port of Loading Los Angeles	Port of Loading Los Angeles	
	Destination Country Taiwan	Destination Por Taipe	Destination Port Taipe	
	Export Date	Exporting Carrie	er	
	Import Permit Number	Bill of Lading /	AWB	
			Forwarding Agent	
Buyer (Importer)	Remarks Consignor reference: ACE1035.WF			
Description (May include notes on Quantity, Item Number, Marks and Numbers, K	(ind of Packages.)	Weight	Country of Origin	
Coffee Porter (6.0%) - 20L Plastic Keg		88.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Smog City, 4 kegs Swami's I.P.A. (6.8%) - 355ml 2x12pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Pizza Port, 10 cases	co.	92.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Pizza Port, 10 cases Swami's I.P.A. (6.8%) - 473ml 4x6pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Pizza Port, 10 cases		120.00 kg	United States	
Ponto S.I.P.A. (4.5%) - 473ml 4x6pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Pizza Port, 20 cases O F O	RIGIN	240.00 kg	United States	
Mongo DIPA (8.0%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Pizza Port, 10 cases	52100201	120.00 kg	United States	
Swami's I.P.A. (6.8%) - 568ml 12pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Pizza Port, 20 cases		150.00 kg	United States	
Mongo DIPA (8.0%) - 568ml 12pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Pizza Port, 20 cases		150.00 kg	United States	
XLLPXL117X4L17X4L17X4L7X4L7X4C7X4C7X4C7X4C7X4C7X4C7X4C7X4C7X4C7X4C	1	VIIXIIX	700000000000000000000000000000000000000	



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: - The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods. - The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete. - The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods. - The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents. -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

LOS ANGELES AREA CHAMBER OF COMMERCE	CERTIFICATE OF ORIGIN ORIGINAL			
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number : VERIFY.FTGS.US Date :	LA-COO-517 September 12, 2024		
Seller (Exporter) Global Craft Trading, Inc. 901 East E Street Los Angeles California 90744 United States	Transport Type Vessel	Port of Loading Los Angeles	Port of Loading Los Angeles	
	Destination Country Taiwan	Destination Por Taipe	Destination Port Taipe	
Consignee	Export Date	Exporting Carri	er	
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242	Import Permit Number ********	Bill of Lading /	AWB	
Taiwan	Owner or Agent **********	Forwarding Age	ent	
Buyer (Importer)	Remarks Consignor reference: ACE1035.WF			
Description (May include notes on Quantity, Item Number, Marks and Numbers, K	ind of Packages.)	Weight	Country of Origin	
Wild Card WC IPA (7.0%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Societe Brewing, 9 cases Faction Pale (5.4%) - 473ml 6x4pk case of aluminum cans		108.00 kg 120.00 kg	United States United States	
H.S.Code: 2203.00.0000 Marks: Faction Brewing, 10 cases Summer IPA (6.6%) - 473ml 6x4pk case of aluminum cans	Contra la	240.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: Faction Brewing, 20 cases Penske File (5.8%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Faction Brewing, 10 cases	RIGIN	120.00 kg	United States	
		120.00 kg	United States	
Mackinaw IPA (6.6%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Faction Brewing, 20 cases		240.00 kg	United States	
Oaked Imperial Stout Nitro (8.5%) - 473ml 6x4pk case of aluminum H.S.Code: 2203.00.0000 Marks: Faction Brewing, 10 cases	cans	120.00 kg	United States	
		INTERACT		



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: - The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods. - The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete. - The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods. - The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents. -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

LOS ANGELES AREA	CERTIFICATE OF ORIGIN ORIGINAL			
CHAMBER OF COMMERCE	TO VALIDATE, GO TO Certificate Number : VERIFY.FTGS.US Date :	LA-COO-5170 September 12, 2024	61-66e32fca174a5	
Seller (Exporter) Global Craft Trading, Inc. 901 East E Street Los Angeles California 90744 United States	Transport Type Vessel	Port of Loading Los Angeles	Port of Loading Los Angeles	
	Destination Country Taiwan	Destination Por Taipe	Destination Port Taipe	
	Export Date	Exporting Carrie	er	
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number *******	Bill of Lading /	AWB	
New Taipei City 242 Taiwan	Owner or Agent	Forwarding Age	Forwarding Agent	
Buyer (Importer)	Remarks		E14-223 E1	
	Consignor reference: ACE1035.WF			
Description (May include notes on Quantity, Item Number, Marks and Numbers, K	ind of Packages.)	Weight	Country of Origin	
Wheatermelon (5.5%) - 473ml 6x4pk case of aluminum cans		120.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: LA Ale Works, 10 cases Palmera Pils (5.6%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: LA Ale Works, 10 cases	Son	120.00 kg	United States	
Space XPA (6.5%)- 473ml 6x4pk case of aluminum cans		120.00 kg	United States	
Ocean Squeeze Juicy IPA (6.8%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: LA Ale Works, 10 cases FORIGIN		120.00 kg	United States	
Lunar Kitten (7.5%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: LA Ale Works, 10 cases	120.00 kg	United States		
Hawthorne Haze (7.5%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: LA Ale Works, 10 cases	120.00 kg	United States		
Full Thrust DIPA (8.5%) - 473ml 6x4pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: LA Ale Works, 10 cases	(110 [*]	120.00 kg	United States	



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: - The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods. - The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete. - The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods. - The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents. -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

LOS ANGELES AREA	CERT	IFICATE	OF ORI	GIN ORIGINAL	
CHAMBER OF COMMERCE	TO VALIDATE, VERIFY.FTC	GO TO Certificate Number SS.US Date	LA-COO-517 September 12, 202	761-66e32fca174a5	
Seller (Exporter) Global Craft Trading, Inc. 901 East E Street				Port of Loading Los Angeles	
Los Angeles California 90744 United States	Destination C Taiwan	Destination Country Taiwan		Destination Port Taipe	
Consignee	Export Date	•	Exporting Car ************	rier	
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit		Bill of Lading	/ AWB	
New Taipei City 242 Taiwan	Owner or Age		Forwarding A	gent	
Buyer (Importer)	Remarks			(E14-279)(E1	
Consignor reference: ACE1035.W					
Description (May include notes on Quantity, Item Number, Marks and Numbers, I	Kind of Package	s)	Weight	Country of Origin	
12 Maiestic Lies (7.3%) - 20L Plastic Keg			132.00 kg	United States	
H.S.Code: 2203.00.0000 Marks: 8 Bit Brewing, 6 kegs					
True Brewmance (7.1%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: 8 Bit Brewing, 6 kegs	COMMERCE		132.00 kg	United States	
God of Pour (7.1%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: 8 Bit Brewing, 10 kegs	MERC		220.00 kg	United States	
Master of Illusion (9.5%) - 20L Plastic Keg	RIGIN		198.00 kg	United States	
			110.00 kg	United States	
Conan the Barbeerian (4.9%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: 8 Bit Brewing, 3 kegs			66.00 kg	United States	
Night Messenger (5.3%) - 20L Plastic Keg H.S.Code: 2203.00.0000 Marks: 8 Bit Brewing, 1 keg			22.00 kg	United States	
=====end of products=======					
REA CHAMBER	MBER OA COMERCE	 The above-mentioned goods origin origin applicable in the country(ies) The information in this certificate a Commerce ("LAACC") is accurate, tri The Applicant undertakes to advisis Certificate (or to whom the Certificat of any inaccuracy, omission or chara The Applicant will maintain, and pr truth, accuracy and completeness of In consideration for the LAACC" is 	nate in the country(ies) specif to those goods. and in any documents provide rue and complete. e LAACC and any other person ate is provided to with the kno rug in such information, or in esent upon request, such doc of this certificate and accomp suance of this Certificate, the ility in connection with the iss	umentation as is necessary to verify the annying documents. Applicant agrees to release, discharge and suance of this certificate and to indemnify CC in connection herewith.	

USA

-

Authorized Signature Farhad Ghorbani Fard

901 East E Street, Suite 201 Wilmington, CA 90744

Invoice

Date	Invoice #
8/16/2024	ACE1035.WF.

Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan

Ship To

			P.O. No.	Terms	Project
			05152024	Due on receipt	
MPN	Description		Invoiced	Rate	Amount
Revision	Vegas As Fuck (6.5%) - 473ml 6x4pk case of aluminum of	cans	10	65.50	655.00
Brewing					
Revision	Distance Haze NE DIPA (8.0%) - 473ml 6x4pk case of		10	72.00	720.00
Brewing	aluminum cans				
Revision	Planet Lovetron NE IPA (6.5%)- 473ml 6x4pk case of		10	65.50	655.00
Brewing	aluminum cans				
Revision	Heat Sync Hoptorium (6.7%) - 473ml 6x4pk case of		10	65.50	655.00
Brewing	aluminum cans				
Revision	Dr. Lupulin 3x IPA (11.3%) - 473ml 6x4pk case of alumi	num	10	78.50	785.00
Brewing	cans				
Revision	Revision IPA (6.5%) - 568ml 24pk case of aluminum can	S	10	75.50	755.00
Brewing					
Revision	Revision IPA (6.5%) - 20L Plastic Keg		10	92.00	920.00
Brewing			10	,	20100
Revision	Revision DIPA (8.0%) - 20L Plastic Keg		7	102.50	717.50
Brewing	Revision Dil II (0.070) 2011 fusite Reg		'	102.50	/1/.50
Revision	Dr. Lupulin 3x IPA (11.3%) - 20L Plastic Keg		6	124.50	747.00
Brewing	DI. Eupunii $5x \text{ if } X(11.576) = 2011$ hastic Keg		0	124.50	/4/.00
Revision	Vegas AF (6.5%) - 20L Plastic Keg		7	111.50	780.50
Brewing	vegas AF (0.576) - 20L I lastic Keg		/	111.50	780.50
Revsion Brewing	Heat Sume Hontorium (6.7%) 201 Plastic Kag		10	111.50	1,115.00
Revision			8	111.50	892.00
	Planet Lovetron NE IPA (0.5%) - 20L Plastic Keg		0	111.50	892.00
Brewing			0	110.00	044.00
Revision	Distance Haze NE DIPA (8.0%) - 20L Plastic Keg		8	118.00	944.00
Brewing				02.00	2 (0,00
Revision	Emerald Bay (6.4%) - 20L Plastic Keg		4	92.00	368.00
Brewing					
			10	(2.00)	(20.00
El Segundo	Mayberry IPA (7.2%) - 473ml 6x4pk case of aluminum c	ans	10	63.00	630.00
			TC	otal	
CHAMPS			Pa	yments/Credits	i
			В	alance Due	
	Page				

901 East E Street, Suite 201 Wilmington, CA 90744

Invoice

Date	Invoice #
8/16/2024	ACE1035.WF.

Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan

Ship To

		P.O. No.	Terms	Project
	Γ	05152024	Due on receipt	
MPN	Description	Invoiced	Rate	Amount
El Segundo	Broken Skull IPA (6.7%) - 473ml 6x4pk case of aluminum	19	63.00	1,197.00
F1 C 1-	cans White Dec IDA $((70))$ 472 ml (refult even of elements)	20	(2.00	1 2(0.0)
El Segundo	White Dog IPA (6.7%) - 473ml 6x4pk case of aluminum ca		63.00 67.50	1,260.0
El Segundo	Peculiar Habits IPA (6.2%) - 473ml 6x4pk case of aluminu cans	m 19	07.30	1,282.50
El Segundo	Huftgold Festbier (5.8%) - 473ml 6x4pk case of aluminum cans	10	56.00	560.00
Smog City	Smog City Blonde Ale w/Citrus (5.0%) - 473ml 6x4pk case aluminum cans	e of 10	51.50	515.0
Smog City	Coffee Porter (6.0%) - 473ml 6x4pk case of aluminum cans	s 10	62.50	625.00
Smog City	Little Bo Pils (4.4%) - 473ml 6x4pk case of aluminum cans		51.50	515.00
Smog City	Smog City IPA (7.2%) - 473ml 6x4pk case of aluminum ca		58.50	1,170.00
Smog City	Lightning Sprites (6.3%) - 473ml 6x4pk case of aluminum cans	9	70.50	634.50
Smog City	Amarilla Gorilla IPA (7.4%) - 473ml 6x4pk case of alumin cans	um 10	62.50	625.0
Smog City	Sabre-Toothed Squirrel (7.0%) - 473ml 6x4pk case of aluminum cans	10	58.50	585.0
Smog City	Amarilla Gorilla IPA (7.4%) - 20L Plastic Keg	8	110.50	884.00
Smog City	Smog City IPA (7.2%) - 20L Plastic Keg	8	98.00	784.0
Smog City	Coffee Porter (6.0%) - 20L Plastic Keg	4	119.00	476.00
Pizza Port	Swami's I.P.A. (6.8%) - 355ml 2x12pk case of aluminum ca	ans 10	32.50	325.00
PIzza Port	Swami's I.P.A. (6.8%) - 473ml 4x6pk case of aluminum can	ns 10	44.00	440.0
Pizza Port	Ponto S.I.P.A. (4.5%) - 473ml 4x6pk case of aluminum car	ns 20	36.00	720.00
Pizza Port	Mongo DIPA (8.0%) - 473ml 6x4pk case of aluminum can	s 10	44.00	440.0
Pizza Port	Swami's I.P.A. (6.8%) - 568ml 12pk case of aluminum cans	s 20	32.00	640.00
Pizza Port	Mongo DIPA (8.0%) - 568ml 12pk case of aluminum cans	20	32.00	640.0
				0.0
		то	otal	
EL CHAMBE		Pa	ayments/Credits	
		В	alance Due	

901 East E Street, Suite 201 Wilmington, CA 90744

Invoice

Date	Invoice #	
8/16/2024	ACE1035.WF.	

Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan

Ship To

	F			
		05152024	Due on receipt	
MPN	Description	Invoiced	Rate	Amount
Societe Brewing	Wild Card WC IPA (7.0%) - 473ml 6x4pk case of aluming cans	ım 9	64.00	576.00
Faction Brewing	Faction Pale (5.4%) - 473ml 6x4pk case of aluminum cans	3 10	59.00	590.0
Faction Brewing	Summer IPA (6.6%) - 473ml 6x4pk case of aluminum can		66.50	1,330.0
Faction Brewing	Penske File (5.8%) - 473ml 6x4pk case of aluminum can	10	59.00	590.0
Faction Brewing	Faction Pilsner (4.8%) - 473ml 6x4pk case of aluminum cans		59.00	590.0
Faction Brewing	Mackinaw IPA (6.6%) - 473ml 6x4pk case of aluminum c		70.00	1,400.00
Faction Brewing	Oaked Imperial Stout Nitro (8.5%) - 473ml 6x4pk case of	-	66.50	665.0
	aluminum cans			
LA Ale Works	Wheatermelon (5.5%) - 473ml 6x4pk case of aluminum ca	ins 10	50.00	500.00
LA Ale Works	Palmera Pils (5.6%) - 473ml 6x4pk case of aluminum cans		51.50	515.0
LA Ale Works	Space XPA (6.5%)- 473ml 6x4pk case of aluminum cans	10	65.50	655.0
LA Ale Works	Ocean Squeeze Juicy IPA (6.8%) - 473ml 6x4pk case of aluminum cans	10	65.50	655.0
LA Ale Works	Lunar Kitten (7.5%) - 473ml 6x4pk case of aluminum can	s 10	65.50	655.0
LA Ale Works	Hawthorne Haze (7.5%) - 473ml 6x4pk case of aluminum cans	10	65.50	655.0
LA Ale Works	Full Thrust DIPA (8.5%) - 473ml 6x4pk case of aluminum cans	n 10	82.50	825.0
8 BIt Brewing	12 Majestic Lies (7.3%) - 20L Plastic Keg	6	130.00	780.0
8 Bit Brewing	True Brewmance (7.1%) - 20L Plastic Keg	6	130.00	780.0
8 Bit Brewing	God of Pour (7.1%) - 20L Plastic Keg	10	136.50	1.365.0
8 Bit Brewing	Master of Illusion (9.5%) - 20L Plastic Keg	9	143.00	1,287.0
8 Bit Brewing	Mario Tart: Santorini Sprinter (6.3%) - 20L Plastic Keg	5	143.00	715.0
8 Bit Brewing	Conan the Barbeerian (4.9%) - 20L Plastic Keg	3	136.50	409.5
8 Bit Brewing	Night Messenger (5.3%) - 20L Plastic Keg	1	130.00	130.0
			otal	
DEA CHAMBER		Pa	yments/Credits	
	\bigcirc	В	alance Due	

American Craft Exports, LLC

901 East E Street, Suite 201 Wilmington, CA 90744

Invoice

Date	Invoice #	
8/16/2024	ACE1035.WF.	

Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan

Project	Terms	P.O. No.		
	Due on receipt	05152024	-	
Amount	Rate	Invoiced	Description	MPN
132.0	66.00	2	8 Bit Pint Glasses (24/cs)	
\$41,456.5	otal	Тс		
\$0.0	yments/Credits	Pa		CHAMBER
\$41,456.5	alance Due	В	$\langle \rangle$	